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ZE(A ) 2. R =AM .ok 85ina’sin,85in]f:?

L CHERAMR AN ZEKA LHE
[(HEE1-1]
| R (R) Y E=ZAME Y —5F

FREER
) _ , 8cosasinff cosy
. 2. Y17 = A B _
ZL( ) 8 sin a cos B cosy

4 4L 8 [ 7 1-10]
LRZANS L Foik

8cosacosfsiny

3abc
R(a? + b? + c?)

ZE(EF)S R=ZAWIICHEE L

B=ZAWAA =K
B = s s 1 P9 3t 2
R=ZAWAEA = A
/2R < 1B B NUINNI 20 < M NNE = J

2(E ) bb Al 2 1
(B 2. AA1A; A3 ¥1AB, By B3 6 /U E5 ] [B] 1o 3K XL

TR B(F)s P L= &5 fife=B(p ) ® 2= 290 f

8 sin 64 sin 6, sin 05

—8cos(68; + 6,)sinf; sin 6,

@',l-‘, NN E'j f:f;; , A1A2A3A4
o 1R v ¥ # BB, B3B,
i B,B,B;B,
. 7 oyl r? sin(6; + 65) , . | | |
?tlj ( Pq );Q_;; }ﬁ = 3\%’}&; Pq ~ ;% Bl BZ B3 B‘4‘ 8 [Sin 0, sin 6, sin f5 sin 6‘4] 8 sin 91 SIi 92 SIh 93 SIn 94
“ ¥ A BRI [sin(8; + 65)]2

X sin(6; + 6,) sin(6, + 65) sin(6, + 6,)

\E Vs o .
RG0S B B1B2B3By | 12sin(e, + 6,)sin(6, + 6,)sin(6, +65)
é{] SN siné, sinf, sin B, sin 6,

ZE( o )

8 sin 6, sin 6, sin 65 sin 6,

l.¥mEESm+nk 7N HEET 7 6 ff- B(2"sinb,sinb, - - - sinby)?

2. =% 1k ° > i=0(mod3)z p v &i=1(mod3)z £ & =2(mod3)2 *tw 'y X 8t

3.1 = 0(mod3)z 2827 = 1(mod3)2. F g7 [ = BLX 3

4, %ik °® > i=0(mod4)z *twei=1(mod4)z f w8 =2(mod4)2 ¥ 4+ R EF £ &L
0.1 =0(mod4)ei = 1(mod4)2. TR EOEL R > i = 1(mod4)EZi = 3(mod4)Z. E B 0% R
6. i+ j=0(modn) > = 5, RgB 0L M

1,38 %5 B(2022) - R¥ H&EHFAF P o @ik Ik o
2.5 % B (2022) - WP BEFHFAF I P o @ik dlkAk o
3. T ~ 3R E % ~ K (2022) o
Bz EAGEd b o P FARFOIEY P EPERTE TR
B~p https://twst. ntsec. gov. tw/activity/race—1/61/pdf/NPHSF2021-050404. pdf
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